Report ID: CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

05/25/2017

Engineer: 1813

Firm Name: Hntb Corp.

Contract B74CN02

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Bidder: 3596

MAS Building and Bridge, Inc. Firm Name:

				En	gineer	В	idder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$0.00	\$0.00
0130.436	ELECTRIC COMPANY	AN	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$0.00	\$0.00
0160.023	ENVIRONMENTAL PERMITTING IN-LIEU FEE	AN	1	\$3,900.00	\$3,900.00	\$3,900.00	\$3,900.00	\$0.00	\$0.00
0211.501	BRIDGE REPAIRS	LS	1	\$2,478,195.00	\$2,478,195.00	\$2,097,000.00	\$2,097,000.00	(\$381,195.00)	(\$381,195.00)
0213.202	RODENT CONTROL	AN	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$4,347.00	\$4,347.00	\$4,347.00	\$4,347.00	\$0.00	\$0.00
0354.001	STRUCTURAL CRACK REPAIR BY EPOXY INJECTION	LF	450	\$129.46	\$58,257.00	\$65.00	\$29,250.00	(\$64.46)	(\$29,007.00)
0354.002	GROUTING	CF	1,400	\$170.36	\$238,504.00	\$42.00	\$58,800.00	(\$128.36)	(\$179,704.00)
0354.060	PATCHING HORIZONTAL AND VERTICAL SURFACES	SF	100	\$58.62	\$5,862.00	\$160.00	\$16,000.00	\$101.38	\$10,138.00

Date/Time: Massachus

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 05/25/2017

Contract B74CN02

Engineer: 1813

Firm Name: Hntb Corp.

CMS-BM-003

Report ID:

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Bidder: 3596

Firm Name: MAS Building and Bridge, Inc.

				Eı	ngineer	В	idder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0450.200	GRANITE MASONRY - REMOVED AND RESET OR FURNISHED NEW	SF	1,020	\$172.20	\$175,644.00	\$46.10	\$47,022.00	(\$126.10)	(\$128,622.00)
6500.000	RISK ALLOWANCE	RA	1	\$223,947.00	\$223,947.00	\$223,947.00	\$223,947.00	\$0.00	\$0.00
	Total Esti	mate Co	ntract Base E	Bid:	\$3,267,656.00		\$2,559,266.00		(\$708,390.00)
	Contract Total - I	Base Bid	I and Alternat	tes:	\$3,267,656.00		\$2,559,266.00		(\$708,390.00)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

05/25/2017

Engineer: 1813

10

Contract B74CN02

Bidder: 2880

Firm Name: Hntb Corp.

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Firm Name: Sps New England, Inc.

				En	ngineer	В	idder	Variance		
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$0.00	\$0.00	
0130.436	ELECTRIC COMPANY	AN	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$0.00	\$0.00	
0160.023	ENVIRONMENTAL PERMITTING IN-LIEU FEE	AN	1	\$3,900.00	\$3,900.00	\$3,900.00	\$3,900.00	\$0.00	\$0.00	
0211.501	BRIDGE REPAIRS	LS	1	\$2,478,195.00	\$2,478,195.00	\$2,775,000.00	\$2,775,000.00	\$296,805.00	\$296,805.00	
0213.202	RODENT CONTROL	AN	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$0.00	\$0.00	
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$4,347.00	\$4,347.00	\$4,347.00	\$4,347.00	\$0.00	\$0.00	
0354.001	STRUCTURAL CRACK REPAIR BY EPOXY INJECTION	LF	450	\$129.46	\$58,257.00	\$1.00	\$450.00	(\$128.46)	(\$57,807.00)	
0354.002	GROUTING	CF	1,400	\$170.36	\$238,504.00	\$1.00	\$1,400.00	(\$169.36)	(\$237,104.00)	
0354.060	PATCHING HORIZONTAL AND VERTICAL SURFACES	SF	100	\$58.62	\$5,862.00	\$250.00	\$25,000.00	\$191.38	\$19,138.00	

Date/Time: Massachusetts Bay Transportation Authority

Report ID: CMS-BM-003

Capital Management System

Comparison of Bids Bid Date: 05/25/2017

Contract B74CN02

Engineer: 1813

Firm Name: Hntb Corp.

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Bidder: 2880

Firm Name: Sps New England, Inc.

				Eı	ngineer	В	idder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0450.200	GRANITE MASONRY - REMOVED AND RESET OR FURNISHED NEW	SF	1,020	\$172.20	\$175,644.00	\$1.00	\$1,020.00	(\$171.20)	(\$174,624.00)
6500.000	RISK ALLOWANCE	RA	1	\$223,947.00	\$223,947.00	\$223,947.00	\$223,947.00	\$0.00	\$0.00
	Total Esti	mate Co	ntract Base E	Bid:	\$3,267,656.00		\$3,114,064.00		(\$153,592.00)
	Contract Total - I	Base Bio	I and Alternat	tes:	\$3,267,656.00		\$3,114,064.00		(\$153,592.00)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 05/25/2017

Engineer: 1813 Firm Name: Hntb Corp.

Contract B74CN02

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Bidder: 2687

Firm Name: R. ZOPPO CO. INC.

				En	gineer	В	idder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$0.00	\$0.00
0130.436	ELECTRIC COMPANY	AN	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$0.00	\$0.00
0160.023	ENVIRONMENTAL PERMITTING IN-LIEU FEE	AN	1	\$3,900.00	\$3,900.00	\$3,900.00	\$3,900.00	\$0.00	\$0.00
0211.501	BRIDGE REPAIRS	LS	1	\$2,478,195.00	\$2,478,195.00	\$2,840,000.00	\$2,840,000.00	\$361,805.00	\$361,805.00
0213.202	RODENT CONTROL	AN	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$4,347.00	\$4,347.00	\$4,347.00	\$4,347.00	\$0.00	\$0.00
0354.001	STRUCTURAL CRACK REPAIR BY EPOXY INJECTION	LF	450	\$129.46	\$58,257.00	\$150.00	\$67,500.00	\$20.54	\$9,243.00
0354.002	GROUTING	CF	1,400	\$170.36	\$238,504.00	\$0.01	\$14.00	(\$170.35)	(\$238,490.00)
0354.060	PATCHING HORIZONTAL AND VERTICAL SURFACES	SF	100	\$58.62	\$5,862.00	\$125.00	\$12,500.00	\$66.38	\$6,638.00

Massachusetts Bay Transportation Authority Date/Time:

Report ID:

Capital Management System CMS-BM-003

> **Comparison of Bids** Bid Date: 05/25/2017

Contract B74CN02

Engineer: 1813 Bidder: 2687

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA Firm Name: Hntb Corp. Firm Name: R. ZOPPO CO. INC.

				Eı	ngineer	В	idder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0450.200	GRANITE MASONRY - REMOVED AND RESET OR FURNISHED NEW	SF	1,020	\$172.20	\$175,644.00	\$0.01	\$10.20	(\$172.19)	(\$175,633.80)
6500.000	RISK ALLOWANCE	RA	1	\$223,947.00	\$223,947.00	\$223,947.00	\$223,947.00	\$0.00	\$0.00
	Total Esti	mate Co	ntract Base E	Bid:	\$3,267,656.00		\$3,231,218.20		(\$36,437.80)
	Contract Total - Base Bid and Alternates:				\$3,267,656.00		\$3,231,218.20		(\$36,437.80)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

05/25/2017

Engineer: 1813

Firm Name: Hntb Corp.

CMS-BM-003

Contract B74CN02

Bidder:

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

3203

A.A. Will Corporation Firm Name:

				En	ngineer	В	idder	Variance		
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$0.00	\$0.00	
0130.436	ELECTRIC COMPANY	AN	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$0.00	\$0.00	
0160.023	ENVIRONMENTAL PERMITTING IN-LIEU FEE	AN	1	\$3,900.00	\$3,900.00	\$3,900.00	\$3,900.00	\$0.00	\$0.00	
0211.501	BRIDGE REPAIRS	LS	1	\$2,478,195.00	\$2,478,195.00	\$2,325,000.00	\$2,325,000.00	(\$153,195.00)	(\$153,195.00)	
0213.202	RODENT CONTROL	AN	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$0.00	\$0.00	
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$4,347.00	\$4,347.00	\$4,347.00	\$4,347.00	\$0.00	\$0.00	
0354.001	STRUCTURAL CRACK REPAIR BY EPOXY INJECTION	LF	450	\$129.46	\$58,257.00	\$300.00	\$135,000.00	\$170.54	\$76,743.00	
0354.002	GROUTING	CF	1,400	\$170.36	\$238,504.00	\$130.00	\$182,000.00	(\$40.36)	(\$56,504.00)	
0354.060	PATCHING HORIZONTAL AND VERTICAL SURFACES	SF	100	\$58.62	\$5,862.00	\$900.00	\$90,000.00	\$841.38	\$84,138.00	

Date/Time: Massachusetts Bay Transportation Authority

CMS-BM-003 Capital Management System

Comparison of Bids Bid Date:

Contract B74CN02

Engineer: 1813

Report ID:

Firm Name: Hntb Corp.

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Bidder: 3203

Firm Name: A.A. Will Corporation

05/25/2017

				En	gineer	В	idder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0450.200	GRANITE MASONRY - REMOVED AND RESET OR FURNISHED NEW	SF	1,020	\$172.20	\$175,644.00	\$200.00	\$204,000.00	\$27.80	\$28,356.00
6500.000	RISK ALLOWANCE	RA	1	\$223,947.00	\$223,947.00	\$223,947.00	\$223,947.00	\$0.00	\$0.00
	Total Esti	mate Co	ntract Base E	Bid:	\$3,267,656.00		\$3,247,194.00		(\$20,462.00)
	Contract Total - Base Bid and Alternates:				\$3,267,656.00		\$3,247,194.00		(\$20,462.00)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

05/25/2017

Engineer: 1813

Contract B74CN02

Bidder: 2789

Firm Name: Hntb Corp.

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Firm Name:

S & R CORP., FNA STEVEN & ROGER

				En	gineer	В	idder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$0.00	\$0.00
0130.436	ELECTRIC COMPANY	AN	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$0.00	\$0.00
0160.023	ENVIRONMENTAL PERMITTING IN-LIEU FEE	AN	1	\$3,900.00	\$3,900.00	\$3,900.00	\$3,900.00	\$0.00	\$0.00
0211.501	BRIDGE REPAIRS	LS	1	\$2,478,195.00	\$2,478,195.00	\$3,950,500.00	\$3,950,500.00	\$1,472,305.00	\$1,472,305.00
0213.202	RODENT CONTROL	AN	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$4,347.00	\$4,347.00	\$4,347.00	\$4,347.00	\$0.00	\$0.00
0354.001	STRUCTURAL CRACK REPAIR BY EPOXY INJECTION	LF	450	\$129.46	\$58,257.00	\$290.00	\$130,500.00	\$160.54	\$72,243.00
0354.002	GROUTING	CF	1,400	\$170.36	\$238,504.00	\$95.00	\$133,000.00	(\$75.36)	(\$105,504.00)
0354.060	PATCHING HORIZONTAL AND VERTICAL SURFACES	SF	100	\$58.62	\$5,862.00	\$1,000.00	\$100,000.00	\$941.38	\$94,138.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 0:

05/25/2017

Engineer: 1813

Firm Name: Hntb Corp.

CMS-BM-003

Report ID:

Contract B74CN02

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Bidder: 2789

Firm Name: S & R CORP., FNA STEVEN & ROGER

				Er	ngineer	В	Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0450.200	GRANITE MASONRY - REMOVED AND RESET OR FURNISHED NEW	SF	1,020	\$172.20	\$175,644.00	\$135.00	\$137,700.00	(\$37.20)	(\$37,944.00)
6500.000	RISK ALLOWANCE	RA	1	\$223,947.00	\$223,947.00	\$223,947.00	\$223,947.00	\$0.00	\$0.00
	Total Esti	mate Co	ntract Base E	Bid:	\$3,267,656.00		\$4,762,894.00		\$1,495,238.00
	Contract Total - Base Bid and Alternates:				\$3,267,656.00		\$4,762,894.00		\$1,495,238.00

Report ID:

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 0:

Firm Name:

05/25/2017

Contract B74CN02

Engineer: 1813

Firm Name: Hntb Corp.

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Bidder: 2789

S & R CORP., FNA STEVEN & ROGER

	Engineer	Bidder	Variance
Total Type Basic =	\$3,267,656.00	\$4,762,894.00	(\$1,495,238.00)
Contract Total - Base Bid and Alternates:	\$3,267,656,00	\$4.762.894.00	(\$1,495,238.00)

Report ID:

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 05/25/2017

Engineer: 1813

Contract B74CN02

Bidder: 3203

Firm Name: Hntb Corp.

CMS-BM-003

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Firm Name:

A.A. Will Corporation

	Engineer	Bidder	Variance
Total Type Basic =	\$3,267,656.00	\$3,247,194.00	\$20,462.00
Contract Total - Base Bid and Alternates:	\$3,267,656.00	\$3,247,194.00	\$20,462.00

Report ID:

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 05/25/2017

Engineer: 1813

Contract B74CN02

Bidder: 2687

Firm Name: Hntb Corp.

CMS-BM-003

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Firm Name:

R. ZOPPO CO. INC.

	Engineer	Bidder	Variance
Total Type Basic =	\$3,267,656.00	\$3,231,218.20	\$36,437.80
Contract Total - Base Bid and Alternates:	\$3,267,656.00	\$3,231,218.20	\$36,437.80

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 05/25/2017

Contract B74CN02

Engineer: 1813 Firm Name: Hntb Corp.

Report ID:

CMS-BM-003

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Bidder: 2880

Sps New England, Inc. Firm Name:

	Engineer	Bidder	Variance
Total Type Basic =	\$3,267,656.00	\$3,114,064.00	\$153,592.00
Contract Total - Base Bid and Alternates:	\$3,267,656.00	\$3,114,064.00	\$153,592.00

Report ID:

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

05/25/2017

Engineer: 1813 Firm Name: Hntb Corp.

Contract B74CN02

Rehabilitation of MBTA High Speed Red Line Bridge over Neponset River, Boston and Milton, MA

Bidder: 3596

Firm Name: MAS Building and Bridge, Inc.

	Engineer	Bidder	Variance
Total Type Basic =	\$3,267,656.00	\$2,559,266.00	\$708,390.00
Contract Total - Base Bid and Alternates:	\$3,267,656.00	\$2,559,266.00	\$708,390.00